​​​Chapter 11 Homework
11.1. 
The architectural design is a means of structuring the system into (relatively) autonomous parts which can be separately specified using formal or other techniques. You may want to use the architecture to organize some of the requirements. 

11.4
Ticket issuing system: a centralized model with a shared repository of route and pricing information (most processing is done at a single centralized subsystem). This means that changes are immediately available to all machines. The centralized system allows global information and route use to be collected and processed from the different machines. The machines access the centralized system but  little local processing is necessary, this is not exactly a client-server architecture in which the machines are autonomous  clients
Video conferencing system: a client-server model. The server responds to audio/video/data requests.  The clients need a lot of local processing to handle multimedia data. They communicate only with the server, not each other.
Robot floor cleaner: a repository model where all subsystems in the robot place information in the repository for other sub-systems to use. In the case of AI systems as this would be, a special kind of repository called a blackboard is normally used. 

Alternate: abstract machine with increasingly higher levels of intelligence.

11.6
A real-time system may have need to have many processes running in parallel. The call-return model assumes each call will be completed before processing the next one. As a result only one process can run at a time. Moreover, the call-return software cannot process an interrupt in a timely way.

11.7
Salary system: Centralized call return model. Each operation involves identifying particular options then calling subroutines to retrieve or compute the required information. There are no unexpected events to be processed. Student comment: this could even be batch processed.
Software toolset: Event-driven broadcast model. Tools need not know which other tools are available and this approach allows tools which operate on different types of computers to work together. 

Television controller: Interrupt driven model. The controller responds to signals from the remote.
11.8
Data flow 

advantages: From a design standpoint, they more closely represent the actual processes of the system. From an implementation standpoint  processes can be hosted on multiple machines with well-defined inputs and outputs.
disadvantages: Parallelism is harder to achieve on multiple machines

Object: 
advantages: From a design standpoint, they more closely represent the actual components of the system. From an implementation standpoint objects are loosely coupled and can be broken out from the single machine to be hosted on different machines. 

disadvantages: Communication model could be complicated (how do you know what objects are where, how do you relay object requests to the right processor.)

11.9
You can compare the CASE toolsets by taking the different components of the reference model in turn than assess how well the CASE toolset being studied provides these services. You also have to look at how these services are used in particular toolsets. In his case, comparisons would be drawn using:

1. Data repository services. What kind of data management is supported?
2. Data integration services. How well can data be interchanges and what support is provided for configuration management?
3. User interface services. What facilities are supported to allow presentation integration?  How well integrated at the user interface level are different parts of the systems? 

4. Task management services. Do the toolsets provide for process definition and enactment? What process models (if any) do they assume?
5. Message services. How do different tools in the toolset communicate?

